REHE -
BREAE

REAR -
®m & B:

z D i

NIREERE (RRICRHLEERE) REOHERICONT
MTE CELE REEER

HAH IRMEYARRR

(1) TURZIVLFBARBREBFICED v MARIIOAN—IZ X DB
(2) REEHRBETERICRHLZ2EBR1RBEZ6BSCEITERE

TR 28 &£

TR 28 F

8 A

8 A 22 H

30 H

~

TRk 28 &

8 A

27 H

(1) BRETRIELFICZOREMBTEHIT O ENEELIR/IDIETHY, BRERE, BRIEDIK
BFECIOT—ETREHYFEEA,

(2)

BHICH - TE, BOERICKDIEDHREHRB (MSv./Ba), REEE2~7& (4R) DR

H(EEFBHEEEREMREBERRER- RERICETIEMOMEREAEY=27
WEYSIR) Z#EALEL .

(3)

(FLLTHLE0FEMICHKIEST HRETT,

BRERBREBLIVCRBEIIDFEEEDRE
X 2R REOBRREZFEL, MESZFAILL,

FEREDRELIL, 20BLUTOFEBF70RICHDFETICHRIEST HEE, KAIFREE

BIEFER (Ba/ke) . s
BENo i REREE (ke) (FE:ETRE) | FEa e
EtEtES D 4134 | EHEES 9 L0137
1 R FHEEREE 4.346 q:*i"ﬂ q;*i"ﬂ 0.000099
2 Z2FEREEH 4220 ;':’fiﬂj 711:1‘?955 0.000130
3 BHIBEREE 4.000 Z:*foﬂj f’iﬂj 0.000117
HERX . BRHTE{EB/Ke] x BHBEFRB (MSv./Bq)l X EFEDEBELEE(Ke) ]

=SS D LRBHEIESFEEEDRE (mSy) &4%

BHIZHE-->TIE, BOERICLSIEDRERB(MSV./By), 2~7m% (MR ZFERALT =,

() ELIL134DBETRIENO. 75 €O L137DBETIRIEN1. 31 HBRBEDHREESI. 610kgDIHE

075 X 0.000013 x 3.610 + 131 X 0.0000097 X  3.610 = 0.000081
(Ba/Kg) (mSv./Bq) (Kg) (Ba/Kg) (mSv./Bq) (Kg) (mSv)
(BRRBROFHEXIZDONT]
2™ 1134 2™ L1137 Wﬁg;ﬁi"gl‘
ANTRETRE |, =omERk |, ZARES| T | RERE  ZosERK | ZAREER| | REEIME
(Bg/Kg) (mSv.”Baq) (Kg) (Bg/Kg) (mSv.”Bq) (Kg) (mSv)

1 1.05 X 0.000013 Xx 4346 0.94 X 0.0000097 X 4346 = 0.000099

2 1.26 X 0.000013 Xx 4.220 1.49 X 0.0000097 X 4220 = 0.000130

2 1.30 X 0.000013 Xx 4.000 1.28 X 0.0000097 x 4.000 0.000117




